BT TRIA O - HEHHEE X T 3;5217&04)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,955 87,054 41577 45477
RIRET1T 4 12 6 6
RIRET2T 25 54 26 28
RIRET3T 155 498 246 252
RIRET4T 386 983 482 501
B 570 1,547 760 787
REH 2,638 6,236 2,914 3,322
L&A 4,186 9,577 4,537 5,040
5E 2,497 6,013 2,913 3,100
B AN 1,234 2,833 1,327 1,506
BERT 1,128 1,807 855 952
BER2T 693 1,370 655 715
BHERST 397 908 450 458
g 2,218 4,085 1,960 2,125
BARE 252 651 326 325
= 2,202 5,321 2,502 2,819
hERE 613 1,447 662 785
e 2,370 5,238 2,534 2,704
25 L ET 2,235 5218 2,491 2,727
B &AL BT 67 146 57 89
HEFILET1T 577 1,268 597 671
HEFILET2T 601 1,373 647 726
HEZFILAT3T 592 1,389 683 706
g 1,837 4176 1,984 2,192
B & it B Fr ET 682 1,671 814 857
BHEREBET1T 598 1,234 590 644
BHERERET2T 749 1,776 871 905
BHERERETST 768 1,665 758 907
HEFMHET4T 459 1,016 491 525
HEHFMHETST 792 1,653 796 857
HEHFHET6T 868 2,019 971 1,048
HEFRET7T 842 1,947 948 999
HERERETST 65 201 96 105
5| 57141 11511 5,521 5,990
HEF R FET 1,799 3,928 1,914 2,014
S|EFET1T 561 1,520 759 761
S|EFET2T 761 1,837 872 965
S|EFET3 T 710 1,440 675 765
g 2,032 4,797 2,306 2,491
ERE1T 551 1,337 646 691
EIRET2T 380 984 486 498
EREIST 467 1,329 643 686
EIRETAT 683 1,550 709 841
EIZEIST 471 977 494 483
g 2,552 6,177 2,978 3,199
MEH 2,793 6,411 3,034 3,377
J\THET1T 23 26 8 18
J\THET2T 25 63 32 31
J\THEI3T 56 128 60 68
B 104 217 100 117
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